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4.300 (m)

10.0  (kN/n?)
24.5  (kN/m)

30.00 (° )
19.0  (kN/m*)

0.577
0.0  (kN/m?)
174.65 (kN/m?)

1.50
1/6 B
1.50

30 (N/mm*)
10.00 (N/mm?*)
0.45 (N/mm*)

160 (N/mm*)

)

No.



§2
2.1

CLP  (H)4300x (B)2850
0.130

S|

10kN/m?

4.300

H=

B= 2.850

ko

No.



§3
3.1
3.1.1
@
ZV 2 H e Qqu [0}
(kN) (kN) (m) Fs Fs (kN/ )
267.76 72.89 0.408 3.61 2.12 174.65 13.25 | 0.K.
0.475 1.50 1.50
T T
e = 0.408
1
L—l-—i\l
2 5 ]
Er; !

No.



No.

3.1.2
@
ZV 2 H e Qqu [0}
(kN) (kN) (m) Fs Fs (kN/m? )
240.56 72.89 0.461 3.22 1.90 166.33 2.49 | 0.K.
0.475 1.50 1.50

166.33

2.49




3.2
3.2.1

3.2.2

No.

b (mm) 1000 1000
d (mm) 90 260
D22 - 6.5 D22 - 6.5
2
As () 2516 2516
X (mm) 52.9 107.3
” o ) 1.06 x 10° 75.06 x 10°
3 3
S ™ 3.98 x 10 56.31 x 10
gc 0.55 6.24
(N/mm*) o ca 10.00 10.00
gs 5.8 133.0
(N/mm*) o sa 160 160
T 0.04 0.22
(N/mm*) T ca 0.45 0.45
b (mm) 1000 1000
d (mm) 260 90
D22 - 6.5 D22 - 6.5
2
As () 2516 2516
X (mm) 107.3 52.9
M o ) 75.06 x 10° 2.35 x 10°
3 3
S 0 18.80 x 10 18.21 x 10
gc 6.24 1.23
(N/mm*) o ca 10.00 10.00
gs 133.0 12.9
(N/mm*) o sa 160 160
T 0.07 0.20
(N/mm*) T ca 0.45 0.45




§4

4.1

4.1.1

D

4.2

1.000 m

2)

x y)

No.



4.2.1
€))
1
A X y A X Ay
(m (m (m) (m (m (m) (m)
2.850x 4.300= 12.255| 1.425| 2.150 17.4634 26.3483
al - 0.170x 0.800= -0.136 | 0.215 | 3.900 -0.0292 -0.5304
b| -1/2x 0.170x 3.200= -0.272 | 0.243 | 2.433 -0.0661 -0.6618
cl - 2.300x 4.000= -9.200 | 1.450 | 2.300| -13.3400 | -21.1600
d| -1/2x 2.300x 0.170= -0.196 | 1.833 | 0.243 -0.3593 -0.0476
e - 0.250x 4.170= -1.043 | 2.725| 2.215 -2.8422 -2.3102
1.408 0.8266 1.6383
al
Vo=3A L= 1.408 x 1.000 = 1.408 (m*)
b
V =Vo yc= 1.408 x 24.5= 34.50 (kN)
SA X 0.8266
X s A 1.408 0.587 (m)
SA y 1.6383 &
y > A 1.408 1.164 (m)
@
1
A X y A X Ay
(m (m (m) (m (m (m) (m)
2.720x 4.170= 11.342 | 1.490 | 2.215 16.8996 25.1225
a| -1/2x 0.170x 3.200= -0.272 | 0.187 | 1.367 -0.0509 -0.3718
b| - 0.170x 0.170= -0.029 | 0.215 | 0.215 -0.0062 -0.0062
c|-1/2x 2.300x 0.170= -0.196 | 1.067 | 0.187 -0.2091 -0.0367
10.845 16.6334 24.7078
Vo=3A L=10.845x 1.000 = 10.845 (m*)
V =Vo ys= 10.845 x 19.0 = 206.06 (kN)
SA X 16.6334
X 75 A T 10.845 1.534 (m)
Ay 24.7078 e —
y > A 10.845 2.218 (m)

No.



4.2.2
V =g b L=10.0x 2.720 x 1.000 = 27.20 (kN)
x =B -2 = 2850 - 2720 1 400(m)
2 2
4.2.3
W sin(w-¢)

cos(w-¢ -0 -a )

Pa (kN/m)

W (kN/m)

W ¢)

® ¢)

g ¢)

a ¢)
V =Pa sin(6 +a) L
H =Pa cos(® +a) L

Vo, H: (kN)
. )  L=1.000 (m)

— .
~

No.



No.

h =  4.300 (m)
P
a = 0.00 ) 7gkg?m)
W = 126.25 (kN/m) [ 24831
w = 60.00 )
6 = 0.00(C) 50.01
® = 30.00 C°)
25.0
084 50 60 70 8 90
w()
by = 126.25 x sin(60.00 - 30.00)
& = cos (60.00 - 30.00 - 0.00 - 0.00)
= 72.89 (kN/m)
RN R R R R R R AR RRRAAAAANEH
w Pa W
64.00 71.930 | 106.64
. 63.00 72.357 | 111.42
60.00 62.00 72.654 | 116.27
61.00 72.830 | 121.21
*  60.00 72.890 | 126.25
59.00 72.825| 131.38
58.00 72.647 | 136.63
57.00 72.353 | 142.00
56.00 71.936 | 147.49
V = 72.89 x sin( 0.00 - 0.00) x 1.000 = 0.00 (kN)
H = 72.89 x cos( 0.00 - 0.00) x 1.000 =  72.89 (kN)
X = 2.850 (m)
4.300

y = = 1438 ()



No.

8§85
5.1
1)
>V tand +C B L
Fs = = S H Fsa
Fs
Fsa : Fsa = 1.50
>V (kN)
>H : (kN)
tand :
tand = 0.577
C C = 0.0 (kN/m*)
B B = 2.850 (m)
L ( ) L= 1.000 (m)
2)
2 Mr
Fs = s Vo Fsa
Fs :
> Mro: (kN m)
> Mo : (kN m)
Fsa : Fsa = 1.50
d e
g = ZMr-2M
- TV
B
e = > T d
>V (kN)
> Mr (kN m)
> Mo (kN m)
B B = 2.850 (m)
e
1
e 6 B

10



3

Qr,Q2 -
2 Mr :
2 Mo :

>V

o ® r

(KN/m?)
(N m)
(N m)
(kN)
B = 2.850 (m)
L =

B
S - d

2 sV
T3 gL
(o} >V 6 e
¢ B L CF g

2 sV
® T3e-0 L
1.000 (m)

(m

(m

)

No.

11



5.2
5.2.1

D

2)

No. 12

No v H X y Mr Mo
(kN) (kN) (m) (m) (kN m) (kN m)
1 34.50 0.587 | 1.164 20.25
2 206.06 1.534 | 2.278 316.10
3 27.20 1.490 | 4.300 40.53
4 72.89 | 2.850 | 1.433 104 .45
z 267.76 72.89 376.88 104 .45
3
2
1 —
U
Fs = >V p +c B L _ 267.76 x 0.577 + 0.0 x 2.850 x 1.000
B T H B 72.89
= 2.12 Fsa = 1.5
> Mr 376.88
Fs = s Mo 104.45 3.61 Fsa = 1.50
R
> Mr - X Mo 376.88 - 104.45
d = sV ) 267.76 = 1.017 (m)
R
e = B -d= 2:850 1.017 = 0.408 (m)
2 2
le] = 0.408 (m) 4%* B = 0.475 (m)



3)

Q:
= +
B L (1t B

Q2

>V 6 e

267.76 6 x

174.65 (kN/m?)
13.25 (kN/m?)

):

174.65

2.850 x 1.000 * (1%

I

0.408
2.850

No.
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5.2.2

D

2)

No. 14

No v H X y Mr Mo
(k\) (k\) (m) (m) (KN_m) (KN_m)
1 34.50 0.587 | 1.164 20.25
2 206.06 1.534 | 2.278 316.10
3 72.89 | 2.850 | 1.433 104 .45
z 240.56 72.89 336.35 104.45
2
£—=3
1
U
Fs = >V p +c B L _  240.56 x 0.577 + 0.0 x 2.850 x 1.000
- ZH - 72.89
= 1.90 Fsa = 1.5
> Mr 336.35
Fs = s Vo 104.45 3.22 Fsa = 1.50
R
2 Mr - Z Mo 336.35 - 104.45
d = sV 240.56 = 0.964 (m)
R
e = B -d= 2:850 0.964 = 0.461 (m)
2 2
1
le] = 0.461 (m) 5 B = 0.475 (m)



No.

3)

¢ _ ZV . 6e 240.56 , 6x 0.461
¢ B L 5 )7 280x 1000 ¢ (L 2.850 )
166.33 (kN/m)
2.49 (KN/m)

2.49

166.33
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§6

6.1

000" ¥




6.2
6.2.1
1)
a = 3.04 ()
W o= 9.69 (kN/m) [ 5.32]
W = 56.40 (° )
& = 20.00 (°)
@ = 30.00 ()
ba - 9.69 x sin(56.40 - 30.00)

cos (56.40 - 30.00 - 20.00 -

4.32 (kN/m)

3.04)

INnnNnnnNnnnnnnnnmnmmnnm

| 56.40°

| —

Pa
gym
400
3.0
2.0l
1.0
%% "4 "5 6 70 80 100
w()
w Pa W
61.00 4.223 8.12
60.00 4.261 8.46
59.00 4.280 8.78
58.00 4.298 9.12
57.00 4.310 9.47
* 56.40 4.316 9.69
56.00 4.311 9.82
55.00 4.305 10.18
54_.00 4.288 10.54
53.00 4.271 10.93
52.00 4.241 11.32

17



2)
Pa
a = 3.04(C) gki/m)y
W = 133.52 (k\/m) [ 27.48] ’
w = 57.20¢) e
o) = 20.00(0) 50.01
@ = 30.00 (C°)
25.01
0% "4 "0 6 70 80 100
w(®)
Pa 133.52 x sin(57.20 - 30.00)
cos (57.20 - 30.00 - 20.00 - 3.04)
= 61.19 (kN/m)
LU
w Pa W
62.00 60.014 111.87
57.20° 61.00 60.424 116.19
60.00 60.763 120.63
59.00 60.999 125.14
58.00 61.143 129.75
* 57.20 61.193 133.52
57.00 61.190 134._46
56.00 61.138 139.28
55.00 60.986 144 .22
54.00 60.718 149.26
53.00 60.348 154_45
H =Pa cos(® +a) L
L ( ) L = 1.000 (m)
Pa o a H y
(kN/m) (D) (D) (kN) (m)
4.32 20.00 3.04 3.98 0.267
61.19 20.00 3.04 56.31 1.333

18



6.3
6.3.1

6.3.2

6.4
@

No.
H = 3.98 (kN)
H = 3.98 x 0.267
= 1.06 (kN m)
H = 56.31 (kN)
H = 56.31 x 1.333
= 75.06 (kN m)
b = 1000 (mm) | O 0 0 00 o |435l
d = 90 (mm)
As = D22 - 6.5 ! 1000 !
= 25.16 (cm’) = 2516 (mm*)
n = 15
n As 2 b d
= -1+ 1+ N AS
15 x 2516 2 x 1000 x 90
= X -1 + 1+
1000 15 x 2516
= 52.9 (mm)
M= 1.06 (kN m)
S = 3.98 (kN)
_ 2 M _ 2 x 1.06 x 10°
b x d- Ag, 1000 x 52.9 x (90 - 5§'9 )
= 0.55 (N/mm*) o ca = 10.00 (N/mm*) 0.K.
_ M _ 1.06 x 10°
- X - 52.9
As d - 3 2516 x (90 - 3 )
= 5.8 (N/mm?*) osa= 160 (N/mm*) 0.K.
_ s 3.98 x 10°
~ b d 1000 x 90

0.04 (N/mm*) Ta = 0.45 (N/mm*) 0.K.

19



No.

3]
8
b = 1000 (mm) 0000007“'7
d = 260 (mm)
As = D22 - 6.5 1000
= 25.16 (cm’) = 2516 (mm*)
n = 15
n As 2 b d
X = b -1+ 1+ N AS
15 x 2516 2 x 1000 x 260
= X -1 + 1+
1000 15 x 2516
= 107.3 (mm)
M= 75.06 (kN m)
S = 56.31 (kN)
2 M 2 x 75.06 x 10°
oc= x 107.3
b x d - 3 1000 x 107.3 x ( 260 - 3' )
= 6.24 (N/mm*) o ca = 10.00 (N/mm*) 0.K.
o = M B 75.06 x 10°
ps d - = 2516 x (260 - 073y
3 3
= 133.0 (N/mm*) osa= 160 (N/mm*) 0.K.
= S 56.31 x 10°
b d = 1000 x 260

0.22 (N/mm*) Ta = 0.45 (N/mm*) 0.K.



§7

7.1

@

)
)
2.550
A X
(m m ) (m A x (m)
2.550x 0.300= 0.765 1.275 0.9754
-1/2x 2.300x 0.170= -0.196 1.533 -0.3005
- 0.250x 0.170= -0.043 2.425 -0.1043
0.526 0.5706
A X 0.5706
X = s A = 0526 - 1.085 (m)
S =A yc L= 0.526 x 24.5 x 1.000 = 12.89 (kN)
M =S x = 12.89 x 1.085 = 13.99 (kN m)

a:b;

No.

21



&)

A X
(m) (m) (m) (m) A x (m)
2.550x 4.170= 10.634 1.275|  13.5584
a|-1/2x 2.300x 0.170= -0.196 0.767| -0.1503
10.438 13.4081
SA X 13.4081
X =5 a7 1043 - M

S =A ys L=10.438 x 19.0 x 1.000 = 198.32 (kN)

=
1]

S x = 108.32 x 1.285 = 254.84 (KN m)

)

10.00 (kN/n?)

o
1]

S =g b L= 10.00 x 2.550 x 1.000 = 25.50 (kN)

x
1]

1.275 (m)

M =S x= 2550 x 1.275= 32.51 (kN m)

Q




©)
D

2)

Q:
Q2

Qs

174.65 (kN/m?)
13.25 (kN/m?)

G + (G- G) 44%3,: 13.25 + ( 174.65 -  13.25)x §j§§8
157.66 (KN/m*)
@ +q) I L ( 157.66 + 13.25) x 2.550 x 1.000
2 - 2
217.91 (KkN)
L 2 g +q _ 2.550 2 x  13.25 + 157.66
3 o + O -3 13.25 + 157.66
0.916 (m)
S x = 217.91 x 0.916 = 199.61 (kN m)

166.33 (KN/n?)
2.49 (KN/m)

I,
O + (- Qz) B

149.08 (kN/n?)

= 2.49 + ( 166.33 -

2.550

2490 5 "aeg

(@ +q) I L ( 149.08 +  2.49) x 2.550 x 1.000
2 - 2
193.25 (kN)
I 2 g +@ _ 2.550 2 x 2.49 + 149.08
3 o + O -3 2.49 + 149.08
0.864 (m)
S x = 193.25 x 0.864 = 166.97 (kN m)

No.

23



7.2

iy
No S M
(kN) (kN m)
1 12.89 13.99
2 198.32 254.84
3 -217.91 -199.61
4 25.50 32.51
18.80 101.73
Mo = 75.06 (kN m) M
M = Mo
2)
No S M
(kN) (kN m)
1 12.89 13.99
2 198.32 254.84
3 -193.25 -166.97
17.96 101.86
Mo = 75.06 (kN m) M
M = Mo

75.06 (kN m)




7.3

No.
3
b = 1000 (mm) 0000007“'7
d = 260 (mm)
As = D22 - 6.5 1000
= 25.16 (cm’) = 2516 (mm*)
n = 15
n As 2 b d
b -1+ 1+ T As
15 x 2516 2 x 1000 x 260
= 1+ /1 +
1000 15 x 2516
107.3 (mm)
M= 75.06 (kN m)
S = 18.80 (kN)
2 M _ 2 x 75.06 x 10°
b x d- Ag, 1000 x 107.3 x (260 - 10;'3 )
6.24 (N/mm?*) o ca = 10.00 (N/mm*) 0.K.
M B 75.06 x 10°
ps d - = 2516 x (260 - 073y
3 3
133.0 (N/mm?) osa= 160 (N/mm*) 0.K.
S 18.80 x 10°
b d =~ 1000 x 260
0.07 (N/mm*) Ta = 0.45 (N/mm*) 0.K.

25



No. 26

§8 ( )
( )
8.1
|
0 .!AEO
@
A=b h= 0.250 x 0.130 =  0.033 (m)
S =A yc L= 0.033 x 24.5x 1.000 = 0.81 (kN)
M =S x = 0.81x 0.125 = 0.10 (kN m)
@
A=b h= 0.250 x 4.170 =  1.043 (m*)
S =A ys L= 1.043 x 19.0 x 1.000 = 19.82 (kN)

M =S x = 10.82 x 0.125 =  2.48 (kN m)




3

g = 10.00 (kN/m*>)
S =g b L= 10.00 x 0.250 x 1.000 =  2.50 (kN)
x = 0.125 (m)
M =S x= 2.50x 0.125= 0.31 (kN m)
(C)
D
o = 174.65 (KN/m*)
g = 13.25 (kN/m?)
Qs = Qe + (ql— qz) %Z 13.25 + ( 174.65 - 13_25))( g:;:g
= 27.41 (KN/m?)
g - (@ *t@) I L _ ( 27.41+ 13.25) x 0.250 x 1.000
- 2 - 2
= 5.08 (kN)
y B 2 g +@ _ 0.250 ~ 2x 13.25+ 27.41
T3 o + g -3 13.25 + 27.41
= 0.110 (m)
M = S x = 5.08x 0.110 =  0.56 (kN m)



8.2

2)

D

2)

No.

q = 166.33 (kN/m*)
Q@ = 2.49 (kN/m)
G =g + (G- G) 44%3,: 2.49 + ( 166.33 -  2.49)x g:;gg
= 16.86 (kN/m)
s (@ +q) L L ( 16.86 + 2.49) x 0.250 x 1.000
2 2
= 2.42 (kN)
y l. 2 g +q _ 0.250 2 x 2.49 + 16.86
3 o + O T3 2.49 + 16.86
= 0.094 (m)
M = S x = 2.42x 0.094= 0.23 (kN m)
No S M
(kN) (kN m)
1 0.81 0.10
2 19.82 2.48
3 -5.08 -0.56
4 2.50 0.31
)3 18.05 2.33
No S M
(kN) (kN m)
1 0.81 0.10
2 19.82 2.48
3 -2.42 -0.23
b3 18.21 2.35
S = 18.21 (kN)
Moo= 2.35 (kN m)

28



8.3

No.

b = 1000 (mm)
d = 90 (mm) ‘ 1000 ‘
As = D22 - 6.5 ‘ !
= 25.16 (cm’) = 2516 (mm*)
n = 15
n As 2 b d
b -1+ 1+ T As
15 x 2516 2 x 1000 x 90
= 1+ /14
1000 15 x 2516
52.9 (mm)
M= 2.35 (kN m)
S = 18.21 (kN)
2 M _ 2 x 2.35 x 10°
b x d—% 1000 x 52.9 x (90 - 5§'9)
1.23 (N/mm*) o ca = 10.00 (N/mm*) 0.K.
M _ 2.35 x 10°
X - 52.9
As d - 3 2516 x (90 - 3 )
12.9 (N/mm*) osa= 160 (N/mm*) 0.K.
S 18.21 x 10°
b d 1000 x 90
0.20 (N/mm*) Ta = 0.45 (N/mm*) 0.K.

|000000|ﬂ
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